
L3(4).3 (mod 5)

blocks defect matrix

G : 1 1 4× 2
2 1 4× 2

3 = 2 1 4× 2
4 0 201 = χ2,0, ϕ2,0

5 0 202 = χ2,1, ϕ2,1

6 = 5 0 203 = χ2,2, ϕ2,2

7 0 1051 = χ3+, ϕ3+

8 0 451 = χ6,0, ϕ6,0

9 0 452 = χ6,1, ϕ6,1

10 0 453 = χ6,2, ϕ6,2

11 = 8 0 454 = χ7,0, ϕ7,0

12 = 10 0 455 = χ7,1, ϕ7,1

13 = 9 0 456 = χ7,2, ϕ7,2

3.G : 14 0 457 = χ32+, ϕ24+

15 = 14∗
16 1 4× 2
17 1 4× 2

blocks defect matrix

18 1 4× 2
19 = 16∗
20 = 18∗
21 = 17∗

22 0 459 = χ36,0, ϕ28,0

23 0 4510 = χ36,1, ϕ28,1

24 0 4511 = χ36,2, ϕ28,2

25 = 22∗
26 = 24∗
27 = 23∗
28 = 25 0 4515 = χ37,0, ϕ29,0

29 = 27 0 4516 = χ37,1, ϕ29,1

30 = 26 0 4517 = χ37,2, ϕ29,2

31 = 28∗
32 = 30∗
33 = 29∗

Block 1: ϕ1,0 ϕ8,0

11 = χ1,0 1 .
631 = χ8,0 . 1
634 = χ9,0 . 1
641 = χ10,0 1 1

ϕ1,0 = 11
ϕ8,0 = 631

Block 2: ϕ1,1 ϕ8,1

12 = χ1,1 1 .
632 = χ8,1 . 1
635 = χ9,1 . 1
642 = χ10,1 1 1

ϕ1,1 = 12
ϕ8,1 = 632

Block 3: ϕ1,2 ϕ8,2

13 = χ1,2 1 .
633 = χ8,2 . 1
636 = χ9,2 . 1
643 = χ10,2 1 1

ϕ1,2 = 13
ϕ8,2 = 633



Blocks 16, 19: ϕ27,0 ϕ30,2

211 = χ35,0 1 .
639 = χ38,2 . 1
6315 = χ39,2 . 1
842 = χ40,1 1 1

ϕ27,0 = 211
ϕ30,2 = 636

Blocks 17, 21: ϕ27,1 ϕ30,0

212 = χ35,1 1 .
637 = χ38,0 . 1
6313 = χ39,0 . 1
843 = χ40,2 1 1

ϕ27,1 = 212
ϕ30,0 = 634

Blocks 18, 20: ϕ27,2 ϕ30,1

213 = χ35,2 1 .
638 = χ38,1 . 1
6314 = χ39,1 . 1
841 = χ40,0 1 1

ϕ27,2 = 213
ϕ30,1 = 635


